Instructions For 46", 58", 70", & 94" Red Cedar Contour Table

Items: ELY46CTT, ELYS8CTT, ELY70CTT, ELY94CTT, ELY46CTTBB, ELY58CTTBB, ELY70CTTBB, ELY94CTTBB,
ELY46CTTB, ELY58CTTB, ELY70CTTB, ELY94CTTB, ELY46CTT4BB, ELY58CTT4BB, ELY70CTT4BB, ELY94CTT4BB,

ELY46CTT4B, ELY58CTT4B, ELY70CTT4B, ELYS4CTT4B

Tools Required for Assembly Hardware List
7/16" Socket or Adjustable Wrench 8- 2 1/2"Hex Bolts
2# Squarehead Bit (included) 8- Hex Nuts
Hammer for tapping bolts and screws. 24- 1/4 x 1" Fender Washers
8- 1/4x21/2"Lags

Hex Bolt h]]mm]]]]]] .
=X EOTS Parts List
1- Table Top
Screw F‘m = 4- Table Legs

Fender Washer

0
0

Pre-drilled Hole 11ILLLLELMNNNNTI

—J
i

i \

4-1/4x 21/2" Lags 4 1/4%x 2 1/2"Bolts
for each end for each end

iy

Step 1:
Lay the table top upside down on a clean flat surface. Place each leg
on the outter side into the notched out cross member using the 2 1/2" bolt.

Step 2:
Next put the 2 1/2" Lags through the side rail piece into the leg.

Step 3:
Repeat with each leq.



Instructions For 32, 46, 58”, 70", & 94”

Red Cedar Contour Bench

Items: ELY46CTB, ELY58CTB, ELY70CTB, ELY94CTB, ELY46CTTB, ELY58CTTB, ELY70CTTB, ELY94CTTB,
ELY46CTT4B, ELY58CTT4B, ELY70CTT4B, ELY94CTT4B ,ELY32CTB

Tools Required for Assembly Hardware List
7/16" Socket or Adjustable Wrench 8- 1/4 x 3" Hex Bolts
2# Squarehead Bit (included) 8- 1/4" Hex Nuts
Hammer for tapping bolts and screws. 16- 1/4 x 1" Fender Washers
8- 3" Screws

Hex Bolt h]m]m]]]]]] .
EXOOILS Parts List
1- Bench Top
Screw Hmn:— 4- Bench Legs

Fender Washer

Nut @ 4-3"Screws =V

for each side

N

Pre-drilled Hole 11ILLLLMNMNNNNTI

.
<= 4-3"Bolts ,=g;;l

for each side

o e ]

Step 1:
Lay the bench with the top upside down on a clean flat surface. Place each bench
leg on the outside aligning with the predrilled holes. Tighten the bolts.

Step 2:
Next put the 3" screws in the small predrilled holes. It is easier to put the bolt part of
the way into the predrilled hole and then tap the rest of the way with a hammer.

Step 3:
Repeat with each leg.



